FMPC 12 Ch. 3- Polynomials Pre Test

1. What is the minimum degree of the following polynomial?

N paum c]esree s 5

N

%
Lar=p=
[ %

ey
[0S BN
[P

2
-4
' - e | mu\"ﬂ(;\ic.iiv \
2. Estimate the zeros of the following graph, and the multiplicity of each zero: ) _
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3. Write the equation of the following graph:
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4. If (x-3) is a factor of f(x) what is the remainder of f(3)?

f(»-=0

5. Divide the following v -2v*—14v-5+v+ 3 using long division.
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6. Use synthetic division on the following:
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7. What is the remainder when x> — Ax* +5x -3 is divided by X + 2
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8. Divide the following ~ N-2|{ N2+ 0n*-12n+3%
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9. What value of g will make x+3 a factor of x*+5x%+ gx+3
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10. Factor and sketch a graph of the following: X~ + S5x°+7x +§‘*""’
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11. If a polynomial function has zeros -i,S,l,and -1 and a y-intercept of 36, write the equation of the
function, and sketch a graph of it. | |
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12. Factor completely x*+3x° - 13x? —-27x+36 -
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13. Determine all of the real zeros of the following polynomial function :ﬂ \ 4 -9 -3
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14. Define, in your own words, what a polynomial function is.

15. What is the maximum number of x-intercepts, what is the minimum number of x-intercepts and
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determine the end behaviour of the following ¥ =2 —3x~ +5x —6x°,
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